
 

  

 

 

 

B.B.A. DEGREE EXAMINATION —  
JUNE 2019. 

First Year 

PRINCIPLES OF MANAGEMENT 

Time : 3 hours Maximum marks : 75 

PART A — (3  5 = 15 marks) 

 Answer any THREE questions. 

Each answer should not exceed 2 pages. 

1. Is Management - an art or science? 

 ÷©»õsø© Gß£x Pø»¯õ AÀ»x AÔÂ¯»õ? 

2. Discuss the importance of planning. 

 vmhªmh¼ß •UQ¯zxÁzøu¨ £ØÔ ÂÍUPÄ®. 

3. Explain the principles of organisation. 

 {ºÁõP Aø©¨¤ß öPõÒøPPøÍ ÂÍUPÄ®. 
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4. What are the different types of Communication? 
Discuss in detail. 

 £À÷ÁÖ ÁøP¯õÚ uPÁÀ öuõhº¦ÒÍ GßöÚßÚ? 

AøÁPøÍ Â›ÁõP ÂÍUPÄ®. 

5. Explain the basic control process. 

 Ai¨£øh Pmk¨£õk ö\¯À•øÓ ÂÍUPÄ®. 

PART B — (4  15 = 60 marks) 

 Answer any FOUR questions. 

Each answer should not exceed 5 pages. 

6. Explain the functions of management in detail. 

 {ºÁõP ö\¯À£õkPøÍ Â›ÁõP ÂÍUPÄ®. 

7. What is Planning? Explain the steps involved in 
Planning. 

 vmhªhÀ GßÓõÀ GßÚ? vmhªh¼À EÒÍ £iPÒ 

ÂÍUPÄ®. 

8. Discuss the different types of decisions in detail. 

 £À÷ÁÖ ÁøP¯õÚ •iÄPøÍ Â›ÁõP 

ÂÁõvUPÄ®. 
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9. Mention the various internal sources of 
recruitment. What are its merits and demerits? 

 Bm÷\º¨¤À EÒÍ £À÷ÁÖ EÒ Buõμ[PøÍ 

SÔ¨¤hÄ®. AøÁPÎß |ßø©PÒ ©ØÖ® wø©PÒ 

GßÚ? 

10. Discuss the selection process in detail. 

 ÷uºÄ ö\¯À•øÓø¯ Â›ÁõP ÂÁõvUPÄ®. 

11. Enumerate the nature and functions of directing. 

 C¯UPzvß £s¦PÒ ©ØÖ® ö\¯À£õkPøÍ 

ÂÍUPÄ®. 

12. Explain the functions of control. 

 Pmk¨£õmiß ö\¯À£õkPøÍ ÂÍUPÄ®. 

——————— 



 

  

 

 

 
B.B.A. DEGREE EXAMINATION —  

JUNE, 2019. 

First Year 

BUSINESS ORGANISATION 

Time : 3 hours Maximum marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

Each answer should not exceed 2 pages. 

1. Discuss the importance of business organisation. 

 ÁoP Aø©¨¤ß •UQ¯zxÁ® SÔzx 

ÂÁõvUPÄ®. 

2. Write short notes on joint Hindu family business. 

 Tmk î¢x Sk®£ Â¯õ£õμ® ]Ö SÔ¨¦ ÁøμP. 

3. What is prospectus? Explain its contents. 

 Prospectus GßÓõÀ GßÚ?  Auß EÒÍhUP[PøÍ 

ÂÍUPÄ®. 

 UG–289 BBA–12/
BAF–12
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4. Describe the functions of OTCEI. 

 OTCEI Cß ö\¯À£õkPøÍ ÂÍUPÄ®. 

5. What are business combinations? 

 ÁoP ÷\ºUøPPÒ GßöÚßÚ? 

PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

Each answer should not exceed 5 pages. 

6. Explain the differences between public limited and 
private limited organizations. 

 ö£õx ©mk¨£kzu¨£mh ©ØÖ® uÛ¯õº 

Áøμ¯ÖUP¨£mh Aø©¨¦UPÐUS Cøh°À EÒÍ 

÷ÁÖ£õkPøÍ ÂÍUS[PÒ. 

7. What are the partnership firms? Explain its 
characteristics. 

 Tmk {ÖÁÚ[PÒ GßÓõÀ GßÚ?  Auß £s¦PøÍ 

ÂÍUPÄ®. 

8. What are the advantages and disadvantages of 
joint stock companies? 

 Tmk £[S {ÖÁÚ[PÎß |ßø©PÒ ©ØÖ® wø©PÒ 

GßÚ? 
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9. What are the contents of memorandum of 
association? 

 \[Pzvß ö©÷©õμõsh® EÒÍhUP[PÒ ¯õøÁ? 

10. What are the activities of a stock exchange? 

 £[Sa \¢øuPÎß ö\¯À£õkPÒ ¯õøÁ? 

11. Explain the functions of SEBI. 

 SEBI ß ö\¯À£õkPøÍ ÂÍUPÄ®.  

12. Distinguish between Life Insurance and General 
Insurance. 

 B²Ò ©ØÖ® ö£õxUPõ¨¥k Cøh÷¯ EÒÍ 

÷ÁÖ£õmøh ÂÍUPÄ®. 

——––––––––– 



 

  

 

 

B.B.A. DEGREE EXAMINATION –  
JUNE, 2019. 

First Year 

FINANCIAL AND MANAGEMENT 
ACCOUNTING 

Time : Three hours Maximum  marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

All questions carry equal marks. 

1. Discuss the objectives of accounting. 

 PnUQ¯À ÷|õUP[PøÍ¨ £ØÔ ÂÁõvUPÄ®. 

2. Explain the features of a journal. 

 SÔ¨÷£miß A®\[PøÍ ÂÍUPÄ®. 

3. What is meant by Ratio Analysis? Explain its 
applications. 

 ÂQu® £S¨£õ´Ä GßÓõÀ GßÚ? Auß 

£¯ß£õkPøÍ ÂÍUPÄ®. 

 UG–290 BBA–13/
  BBAR–13
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4. What are the advantages of fund flow statements? 

 {v Kmh AÔUøP°ß |ßø©PÒ GßÚ? 

5. What are the essentials of good budgetary control? 

 |À» ÁμÄ ö\»Äz vmh Pmk¨£õmiß Ai¨£øh 

GßÚ? 

PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

All questions carry equal marks. 

6. Examine the various accounting concepts in detail. 

 £À÷ÁÖ PnUQ¯À P¸zxPøÍ Â›ÁõP Bμõ¯Ä®. 

7. What are the errors disclosed by the Trial 
Balance? 

 C¸¨¦{ø»U SÔ¨¦ öÁÎ¨£kzx® ¤øÇPÒ 

¯õøÁ? 

8. Kumar is a sole proprietor having a provisions 
store. Following are the transactions during the 
month of January, 2018. Journalise them. 

April  

10th  Commenced business with a capital of 1,00,000 

11th  Purchased goods from Veeru for 20,000 

13th  Purchased Goods for Cash 15,000 
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April  

14th  Purchased Goods from Abhiram for cash 9,000 

16th  Bought Goods from Shyam on credit 12,000 

17th  Sold goods worth 15,000 to Tarun 

19th  Sold goods for cash 20,000 

20th  Sold goods to Utsav for cash 6,000 

21st   Sold goods to Pranav on credit 17,000 

22nd  Returned goods to Veeru 3,000 

23rd  Goods returned from Tarun 1,000 

25th  Goods taken by the proprietor for personal use 1,000

26th  Bought land for 50,000 

27th  Purchased machinery for cash 45,000 

28th  Bought computer from Intel computers for 25,000 

 S©õº Gß£Áº J¸ £»\μUS Pøh°øÚ |hzv 

Á¸QÓõº. 2018, áÚÁ›°À AUPøh°ß 

|hÁiUøPPÒ ¤ßÁ¸©õÖ C¸¢uÚ. AøÁPøÍ 

SÔ¨÷£miÀ £vÄ ö\´P. 

H¨μÀ  

10th  •uÀ ‰»® Bμ®¤UP¨£mh Â¯õ£õμ® 1,00,000 

11th  Ã¸Âh® C¸¢x öPõÒ•uÀ ö\´ux 20,000 

13th  öμõUPzvØS öPõÒ•uÀ ö\´ux 15,000 

14th  A¤μõª°h® öμõUPzvØS öPõÒ•uÀ ö\´ux 9,000

16th  PhÝUS è¯õªh® öPõÒ•uÀ ö\´ux 12,000 
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H¨μÀ  

17th  u¸ÝUS \μUS ÂØÓx 15,000  

19th  öμõUPzvØUS \μUS ÂØÓx 20,000 

20th  öμõUPzvØUPõP Ez\ÆÂØUS \μUS ÂØÓx 6,000 

21st   PhÝUS ¤μÚÂh® \μUS ÂØÓx 17,000 

22nd  Ã¸ÂØUS v¸®ö£ØÓ \μUS 3,000 

23rd  u¸Ûh® C¸¢x \μUS v¸®£ ö£ØÓx 1,000 

25th  {ÖÁÚº uß ö\õ¢u ÷uøÁUPõP \μUS Gkzux 1,000 

26th  {»® Áõ[Q¯x 50,000 

27th  öμõUPzvØUS C¯¢vμ® Áõ[Q¯x 45,000 

28th  Intel P®¨³mh›h® C¸¢x P®¨³mhº Áõ[Q¯x 
25,000 

9. The following Trial balance have been taken out 
from the books of XYZ as on 31st December, 2005. 
Prepare the final accounts 

 Dr. Cr. 
 Rs. Rs. 

Plant and Machinery 100,000
Opening stock 60,000
Purchases 160,000  
Building 170,000

Carriage inward 3,400

Carriage outward 5,000

Wages 32,000
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 Dr. Cr. 
 Rs. Rs. 

Sundry debtors 100,000

Salaries 24,000  
Furniture 36,000  
Trade expense 12,000  
Discount on sales 1,900  
Advertisement 5,000  
Bad debts 1,800  
Drawings  10,000  
Bills receivable 50,000  
Insurance 4,400  
Bank balances 20,000  
Sales  480,000

Interest received  2,000

Sundry creditors  40,000

Bank loan  100,000

Discount on purchases  2,000

Capital  171,500

 795,500  795,500

  Closing stock – Rs. 90,000. 
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 RÌuμ¨£mkÒÍ XYZ ß C¸¨¦ {ø»¨£mi¯¼À 

C¸¢x 2005 i\®£º 31 B® |õ÷Íõk •iÁøh²® 

BskUS›¯ Â¯õ£õμ, C»õ£|mhU PnUø¯²®, 

A¢|õøÍ¯ C¸¨¦ {ø»U SÔ¨ø£²® u¯õº ö\´P. 

 Dr. Cr. 

 ¹. ¹. 

C¯¢vμ®  100,000

öuõhUPa \μUQ¸¨¦ 60,000

öPõÒ•uÀ 160,000  
Pmih® 170,000

EÒ yUSU T¼ 3,400

öÁÎ yUSU T¼ 5,000

T¼ 32,000

£Ø£» PhÚõÎPÒ 100,000

Fv¯[PÒ 24,000  
AøÓP»ß 36,000  
Â¯õ£õμ ö\»ÄPÒ 12,000  
ÂØ£øÚ «x uÒÐ£i 1,900  
ÂÍ®£μ® 5,000  
ÁμõμõUPhß 1,800  
Gk¨¦PÒ 10,000  
ö£ÖuØS›¯ ©õØÖa^mk 50,000  
Põ¨¥k 4,400  
Á[Q öμõUP® 20,000  
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 Dr. Cr. 

 ¹. ¹. 

ÂØ£øÚ  480,000
Ámi ö£Ó¨£mhx  2,000
£Ø£» PhÜ¢÷uõº  40,000
Á[QU Phß  100,000
öPõÒ•uÀ «x uÒÐ£i  2,000
‰»uÚ®  171,500
 795,500  795,500

  CÖva \μUQ¸¨¦ & ¹. 90,000. 

10. Differentiate between fund flow and cash flow 
statement. 

 {v Kmh AÔUøP ©ØÖ® öμõUP |h©õmh AÔUøP 

BQ¯ÁØøÓ ÷ÁÖ£kzx. 

11. From the following information, find out the Cash 
From Operations 

Particulars 31.3.2012  31.3.2012 Liabilities 31.3.2012 31.3.2012
 Rs.  Rs.  Rs. Rs. 

Cash 
balance 

5,000  3,500 Capital 62,500 76,500

Trade 
debtors 

15,000  25,000 Long-
Term 
loans 

20,000 25,000

Stock 17,500  12,500 Mortgage 
loans 

12,500 –

Machinery 40,000  27,500 Trade 
creditors

20,000 22,000

Land 20,000  25,000  
Building 17,500  30,000  
Total 1,15,000  1,23,500 Total 1,15,000 1,23,500
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 Additional Information 

 (a) During the year a machine costing Rs. 5,000 
(depreciation Rs. 1,500) was sold for  
Rs. 2,500. 

 (b) The provision for depreciation against 
machinery during the year 2012 was  
Rs. 12,500 and Rs. 20,000 in 2013. 

 (c) Net Profit earned during the year 2013 was 
Rs. 22,500 

 RÌPsh Â£μ[PÎ¼¸¢x C¸¢x öμõUP 

|h©õmhzøu PnUQhÄ® 

ö\õzxPÒ 31.3.2012 31.3.2012ö£õÖ¨¦PÒ 31.3.2012 31.3.2012

 ¹.  ¹.  ¹. ¹. 

öμõUP 

øP°¸¨¦ 

5,000 3,500 •uÀ 62,500 76,500

Â¯õ£õμ 

PhÚõÎPÒ

15,000 25,000 }sh Põ» 

PhßPÒ 

20,000 25,000

\μUQ¸¨¦ 17,500 12,500 Ah©õÚ 

Phß 

12,500 –

C¯¢vμ® 40,000 27,500 Â¯õ£õμ 

PhÜ¢÷uõº

20,000 22,000
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ö\õzxPÒ 31.3.2012 31.3.2012ö£õÖ¨¦PÒ 31.3.2012 31.3.2012

 ¹.  ¹.  ¹. ¹. 

{»® 20,000 25,000  

Pmih® 17,500 30,000   

ö©õzu® 1,15,000 1,23,500 ö©õzu® 1,15,000 1,23,500

 (A) AÆÁ¸hzvÀ ¹. 5,000 (÷u´©õÚ® ¹. 1,500) 

©v¨¦ÒÍ C¯¢vμ® JßÖ ¹. 2,500 US 

ÂØUP¨£mhx 

 (B) C¯¢vμ ÷u´©õÚzvØPõÚ JxURk 2012 À ¹. 

12,500 ® 2013 À ¹. 20,000 ® 

ö\´¯¨£mkÒÍx 

 (C) 2013 À {Pμ »õ£® ¹. 22,500. 

12. From the following data: 
 Period I Period II
 Rs. Rs. 

Sales 45,000 50,000
Total cost 40,000 43,000

 Calculate 

 (a) P/V Ratio 

 (b) Fixed expenses 

 (c) Break even sales. 
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 RÌUPsh Â£μ[PÎ¼¸¢x 

 Põ»® I Põ»® II

 ¹. ¹. 

ÂØ£øÚ 45,000 50,000

ö©õz ö\»Ä 40,000 43,000

 PnUQhÄ®: 

 (A) P/V ÂQu® 

 (B) {ø»¯õÚ ö\»ÄPÒ 

 (C) |mh »õ£ªÀ»õ ÂØ£øÚ {ø». 

––––––––––––– 



 

  

 

 

B.B.A. DEGREE EXAMINATION —  
JUNE, 2019. 

First Year 

BUSINESS MATHS AND STATISTICS 

Time : 3 hours Maximum marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 
Each answer should not exceed 2 pages. 

1. Discuss the use of statistics in business. 
 Â¯õ£õμzvÀ ¦ÒÎ ÂÁμ[PøÍ¨ £¯ß£kzxÁøu¨ 

£ØÔ ÂÁõvUPÄ®. 

2. Write short notes on Venn diagrams and Sub-set. 
 ]Ö SÔ¨¦ ÁøμP ; Venn diagrams and Sub-set. 

3. Ariel takes a loan of Rs. 8,000 to buy a used truck 
at the rate of 9% simple Interest. Calculate the 
annual interest to be paid for the loan amount. 

 H›¯À 9% GÎ¯ Ámi ÂQuzvÀ £¯ß£kzv¯ 

iμUøP ¹. 8,000 PhÛÀ Áõ[SQÓõº. Phß öuõøPUS 

ö\¾zu ÷Ási¯ Á¸hõ¢vμ Ámiø¯ PnUQk[PÒ. 

 UG–291 BBA–14
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4. Calculate Arithmetic Mean the following data : 
Marks Obtained 4 8 12 16 20 

No. of Students 6 12 18 15 9  

 RÌPõq® uμÄPÐUS Arithmetic Mean PnUQkP. 

Marks Obtained 4 8 12 16 20 

No. of Students 6 12 18 15 9  

5. State any two differences between Correlation and 
regression. 

 Correlation ©ØÖ® regression H÷uÝ® Cμsk 

Âzv¯õ\[PøÍ GÊxP. 

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

Each answer should not exceed 5 pages. 

6. Explain Dispersion. What are the various 
measures in dispersion? 

 Dispersion – ÂÍUPÄ®. Dispersionß £À÷ÁÖ 

|hÁiUøPPÒ GßÚ? 

7. Discuss the different methods of collecting 
primary data. 

 •ußø© uμÄ ÷\P›US® £À÷ÁÖ •øÓPøÍ 

ÂÍUPÄ®. 
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8. Write short notes on the following : 

 (a) Maxima and Minima 

 (b) Matrix algebra 
 ]Ö SÔ¨¦ ÁøμP : 

 (A) Maxima and Minima 
 (B) Matrix algebra 

9. (a) Two weeks before Mark opened Technology 
Titans, he launched his company Web site. 
During those 14 days, Mark had an average 
of 24.5 hits on his Web site per day. In the 
first two days that Technology Titans was 
open for business, the Web site received  
42 and 53 hits respectively. Determine the 
new average for hits on the Web site. 

 (b) Find the median of the following data :12, 2, 
16, 8, 14, 10, 6 

 (A) Cμsk Áõμ[PÐUS •ß¦ ©õºU öhUÚõ»â 

øhmhõßì GßÓ {ÖÁÚ® vÓ¢uõº. A¢u 

{ÖÁÚzvß Áø»uÍ® öuõh[P¨£mhx. A¢u 

Áø»uÍ® 14 |õmPÎÀ |õöÍõßÔØS 

\μõ\›¯õP 24.5 •øÓ £õºUP¨£mhx. 

•u¼μsk |õmPÒ ÁoPzvØPõP 

vÓUP¨£mh÷£õx 42 ©ØÖ® 53 •øÓ 

£õºUP¨£mhx. ¦v¯ \μõ\›ø¯ Psk¤iUPÄ®. 

 (B) R÷Ç öPõkUP¨£mkÒÍ uμÄPÐUS median  

PnUQkP.  12, 2, 16, 8, 14, 10, 6 
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10. Explain the problems faced in the construction of 
Index number. 

 SÔ±mk Gsøn {º©õo¨£vÀ EÒÍ 

¤μa\øÚPøÍ ÂÍUPÄ®.  

11. An investment earns 3% compounded monthly. 
Find the value of an initial investment of Rs. 5,000 
after 6 years. 

 J¸ •u½k Tmk Ámi°À \®£õvUQÓx. BÖ 

Á¸h[PÐUS¨ ¤ÓS ¹. 5,000 ß Bμ®£ •u½møh 

PnURk, £vÚõßS CÍø©¯õÚ v¸©n ÷áõi°ß 

Á¯x R÷Ç öPõkUP¨£mkÒÍx. 

12. The age in years of fourteen young couples is given 
below : 

Husband (X)  21 25 26 24 22 30 19 24 28 32 31 29 21 18

Wife (Y)  19 20 24 21 21 24 18 22 19 30 27 26 19 18

 Find out the correlation between the age of the 
husbands and the age of the wives. 

 £vÚõßS CÍø©¯õÚ v¸©n ÷áõi°ß Á¯x R÷Ç 

öPõkUP¨£mkÒÍx. 

Husband (X)  21 25 26 24 22 30 19 24 28 32 31 29 21 18

Wife (Y)  19 20 24 21 21 24 18 22 19 30 27 26 19 18

 PnÁºPÒ ©ØÖ® ©øÚÂ¯›ß Á¯vØS Cøh÷¯ 

EÒÍ correlation IU Psk¤i. 

——————— 




